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ERL | 3ZIE K% & 18m | 12m B 10+X]| X w%E
1 1A |BER &7 [HERmT7Hs 301 | 329 | 630 | 25 | 8
RC18.12m/h\#4BF

IBAL | SZ)IE K% g 18m | 12m =t [10+X] X B=
1 1C |E# mH  [FAIAS 306 | 318 | 624 | 15 | 4

2 1B |/F@ #&4& [HR®HT7HS 268 | 330 | 598 | 20 | 4

3 1D |[BE #EE |[TRH7He 263 | 294 | 557 | 10 | 3
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JBfL | AZ)IE K% FiTiE 30m | 18m B 10+X] X w%
1 C |WE BB [$tyamTWs | 312 | 321 | 633 | 20 | 6

2 6A |BEFR B4 E |[ZEHFK 287 | 321 | 608 | 12 | 6

3 6B |AAR EFH |ZEHRFR 239 | 286 | 525 | 11 | 1

4 A |HE EBRP | ZERFERK 241 | 281 | 522 | 5 | 2

5 6C [ BAE | mmek 217 | 292 | 509 | 5 | 2
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JBAL | IZIE K% i@ 30m | 18m B 10+X| X w%
1 9C |#hAK B |ACHZE 320 | 339 | 659 | 30

2 8A [feR R¥E [Sto oW TWHE | 305 | 343 | 648 | 31 | 7

3 | 7D |E EA HSC 294 | 337 | 631 | 25 | 8

4 | 9D |(Ffaf BAE [ACHE 282 | 324 | 606 | 18 | 4

5 8B |AR WEAKE [ZEHFRK 279 | 322 | 601 | 11| 2

6 | 8C |ZEA wH |#oamTHe | 288 | 298 | 586 | 13| 4

7 9A /AR # “EHER 244 | 319 | 563 | 14| 4

8 | B |&F B ACHTZ 264 | 297 | 561 [ 7 | 2
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NERL | 3ZIE K4 i@ 30m | 30m B 10+X| X mE
1 | 10D |#hK W |mEGTHE 65 128 1 193 | 0 | O
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NERL | 3ZIE K4 i@ 18m | 18m B 10+X| X mE




1 3A|RIR ALK s 7 e 227 | 204 | 431 3 1
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BRI | SZ)E K% g 18m | 18m =t [10+X] X B%

1 2B |EH BH “EHRFER 231 | 215 | 446 | 3 0

2 2C |FEH A “EHRFER 186 | 215 | 401 2 1
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BRI | SZ)E K% g 18m | 18m =t [10+X] X B=

1 5D |BE A ACHT& 309 | 305 | 614 | 13| 6

2 4N |HEBE BK TERER 283 | 275 | 558 | 6 2

3 4D B BK TERER 241 | 257 | 498 | 8 2

4 3D |BEk HE5 TERER 249 | 238 | 487 5 1

5 4B (9B TR “EHER 249 | 234 | 483 5 2

6 5A |=1E BA “EHER 223 | 255 | 478 3 1

7 AC (BN FHat TERER 229 | 191 | 420 1 0

3C |& #hK “EHRER 198 | 202 | 400 | 2 0

9 5C [BEA  FHIA “EHER 208 152 360 1 0
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JEAL | 3ZIE K4 i@ 30m | 30m B 10+X| X %

1 10A |lhA  #Em “EHER 218 198 416 2 0

2 | 10B |2 Y+ TERER 217 | 144 | 361 4 0

3 | 10C [ARE FE [ZE4FRK 191 | 168 | 359 | O 0
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BRI | 3Z)E K4 i@ 30m | 30m = [10+X] X wE

1 | 11A |k %2 mRERm 7 e 338 | 337 | 675 | 37 | 15

2 | 11C |[BEH &E¥F ™ 7 e 312 | 319 | 631 | 19| 5

3 [12C|BB BH “EHER 186 | 198 | 384 | 3 1

4 | 12A |BER ER T E R 183 | 179 | 362 1 1

5 11D |gIlE EF “EBEHER 202 120 322 6 2




